SAP ABAP table HCP S DIFFCA ORGOBJECT {Alternative Cost Assignment for Organizational Objects}

CSKS
MANDT [CLNT (3)]
HCP_S_DIFFCA ORGOBJECTKOSTL = CSKS-KOSTL | KOKRS [CHAR (4)]

-7 KOSTL [CHAR (10)]

R DATBI [DATS (8)]

Uhe TOO1
.7 MANDT [CLNT (3)]
BUKRS [CHAR (4)]

T5D7C
MANDT [CLNT (3)]
DAKAT [CHAR (2)]
DART [CHAR (2)]
ENDDA [DATS (8)]

T5D7E
MANDT [CLNT (3)]
DAKAT [CHAR (2)]
DART [CHAR (2)]
UDART [CHAR (2)]
ENDDA [DATS (8)]

TGSB
MANDT [CLNT (3)]
GSBER [CHAR (4)]

TKAO1l
MANDT [CLNT (3)]
KOKRS [CHAR (4)]




